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QUESTION 1

Given:

rublic static wvoid main (String[ ] args) {
int data [] = {2010, 2013, 2014, 2015, 2014};
int key = 2014;
int count = 0;
for (int e: data) {
if (e! = key) {
continue:
count++;

}

Systcm.out.print (count + “Found”);

What is the result?
A. Hello Log 1:0

B. Hello Log 2:1

C. Welcome Log 2:1
D. Welcome Log 1:0

Correct Answer: C

QUESTION 2

Given:
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public static void main(String[] args) ({
int 11 = 0;
int jj = 7;
for (ii = 0; ii < jj
System.out.prin

ii = ii + 2) {
)

Pi
4

£

What is the result?

. b
Console 2

D2 46
ompleted with exit code: 0

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

class ¥ {
TSR
static int 5:
public static wvoid main(String[] args) {
X x1 = new X{):

X %2 = new X():
%1 .3 =3
x1.3 = 4;
x2..1i = 5;
wZ .5 — 63

System.out.println(
x1.1 4+ " " 4
2L gk ™ " 3
x2.1 4+ " " +
xZ .35

QUESTION 3
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Given the following class:

Interface Exportable (
Void export():

class Tool implements Exportable {
protected void export () { //line nl
System.out.println("Tool: :export”) ;
}

class ReportTool extends Tool implements Exportable {

public void export() | //line n2
System,out.println("RTool: :export”) ;
}

public static void main(String[] args)
Tocl aTool = new ReportTool() ;
Tool bTool = new Tool() ;
callExport (aTool) ;
callExport (bTool) ;

public static void callExport (Exportable ex) |
ex.export() ;

Which three pieces of code, when inserted independently, set the value of amount to 1007
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public class Fieldinit {
char c;
boolean b;

float £;
void printAll () {
System.cut.println (“e¢ = " 4 €};}

System.ocut.println (“b = ™ + b);
System.out.println (“f =™ + ):
}

public static void main (String [] args) {
FieldInit f = new FieldInit ():
f.printAll ():

A.B.C.D.E.F.

Correct Answer: ADE

QUESTION 4

Given the fragment:

String[][] arra = new String[3][];

arra[0] = new String[|{"rose", "lily"};

arra[1] = new String[[{"apple", "berry","cherry","grapes"};
arra[0] = new String[[{"beans", "carrot","potato"};

/I insert code fragment here

Which code fragment when inserted at line \\'// insert code fragment here\\', enables the code to successfully change
arra elements to uppercase?

A. String[][] arra = new String[3][]; arra[0] = new String[]{"rose", "lily"}; arra[1] = new String[]{"apple",
"berry","cherry","grapes"}; arra[0] = new String[[{"beans", "carrot","potato"}; for (inti =0; i

B. for (inti=0;i

C. for (String a[]:arra[][]) { for (String x:a[]) {
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D. toUpperCase(); } }

E. for (int i:arra.length) { for (String x:arra) { arra[i].toUpperCase(); } }

Correct Answer: C

Incorrect:

not A: arra.length is 3, but the subarrays have 2, 3 and 4 elements. Index will be out of bound.
not B: The subarrys are of different lengths. Index will be out of bound.

not D: Compile error.

QUESTION 5

Which two items can legally be contained within a java class declaration?
A. An import statement

B. A field declaration

C. A package declaration

D. A method declaration

Correct Answer: BD

Reference: http://docs.oracle.com/javase/tutorial/java/javaOO/methods.html
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